QUIZ 6
Stat 101

Quiz 6 Spring 2002

Course Component Value: [6]

DATE: ___________





Name: __________________________

Instructions: Answer all items.  Where appropriate show all work – the answer is only worth part of the value of the question.  USE A PENCIL.
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PROBLEM INFORMATION: A vending machine automatically pours soft drinks into cups.  The amount of soft drink dispensed into a cup is normally distributed.  To determine if the machine is dispensing the correct amount of soft drink, a random sample of 10 filled cups is obtained.  The sample mean and standard deviation are 7.6 oz. and .4 oz, respectively. 

1) [3] Determine a 95% confidence interval for this machine’s cup filling capability.
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2) [1] Now that you have established a confidence interval, which of the following would be a correct statement about the population mean, ?

a) We are 95% confident that the true population mean lies within the confidence level noted above.

b) There is a 95% chance that the true population mean will fall within the calculated confidence interval.

3) [1] Identify the margin of error for the following confidence interval.
95% CI = (4.5, 16.4)

a) 11.90

b) 1.96

c) 10.45

d) 5.95

4) [1] Circle the Critical Value in the following equation.

98% CI =   48.4   +/-   2.33   
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